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POLITICAL SCIENCE
( Major )
Paper : 4.2
( Public Administration—II )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
et wore fWaIRI T o

(a) “Recruitment is the cornerstone of
whole public personnel structure.” This
was said by

AT THE IR SR SRR 177 @
FARR (e
(i) Marshall E. Dimock
e 2. fowe
(i) O. G. Stahl
. f&. bee
() J. D. Kingsley
. .30
( Choose the correct one )
(o= Teqch! qIfd Sferear )
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(b)

(c)

(d)
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(2)

The last stage in the process of
recruitment is
e[ o | i1 M e ) T4

(i) appointment / I
(i) orientation / TG
(i) placement / JFI

( Choose the correct one )

( % Teachr MM Sferear )

Which Article of the Indian Constitution
deals with the removal of the Chainna:n
and the members of the Union Public

Service Commission?

SHeT  WRAEE @ SRR (I
GRERAl S@ER S4rF S TePieed
HPRR [{Ec Sy SR ?

Which of the following is not involved in
the preparation of the budget?

qMCED FSFATS TS SCaAY A1 (I |oo
= 2

(i) Finance Ministry / <@ J@ew .|
(ii) NITI Aayog / TS SHCHTA
(i) Finance Commission /ﬁ’@ HIcHne :

( Choose the correct one )

(@ Teaco! A feren )

i
( Continued )

(3)

(e) Which of the following is the basis of
judicial control over administration?

TS TCEY I PO IR @RS Wi
g fofs = 2
(i) Judicial review
TfE A
(i) Separation of powers
FAOR LRI
(iii) Rule of law
IR P

( Choose the correct one )

(= e A1 Tferedr )

(/ The Indian Parliament exercises final
control on public finance through the

SReH L eRdl e IJRET  peesE
g s

(i) Estimates Committee

S T A

(i) Public Accounts Committee
el f2oR AR RS

(iij) Enactment of Budget
qACHG 22T TR TS

( Choose the correct one )

(o= Taacor At Bferedr )
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(g)

(h)

(i)
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(4)

Bureaucratic theory of organization was
developed by

RIS STl OE [Rerd SR
(i) L. D. White
=1, 3. @aRG
(iij) Luther Gulick
[ BT
(i) Max Weber
(@ E RN

( Choose the correct one )

( % Sageor Ao Sferedr )

Who appoints the Chairman and
members of the State Public Service
Commission?

IRTE EFEHEN HEER YT S ACTIRR
e s $@ 2

The first Lokpal Bill was introduced in -
the Parliament in

APTTS A G Reds @ 10 S|
$ffRe 2

(i) 1971 / 545
(i) 1967 /[ >sduq
(i) 1968 /[ Svpov

( Choose the correct one )

( = Swacsr fo Sferea )

( Continued )

0

2. Answer the following questions :

(5)
In which year was the Right to
Information Act adopted by the

Government of Assam?
T BIFE (@ Di© © TR SAFHE iz
oz e 2

2x5=10

Ged 2PCIR Teq fer

(@)

(b)

(c)

@)

(e)

A7/948

Mention two limitations of the Public
Service Commission.

CETRCT TR 01 Niae Srad 447 |

Write two means of judicial control over
public administration.

EFPTER  eRe  Wifte  fwgw
if3e ferd |

Mention two problems of people’s
participation in public administration.
RS SRR SN 61 ST
TCEY 91 | :

Mention two suggestions made by the
Gorwala Commission for the removal of
inefficiency in Indian administration.

SRSY  PPES  Twwel ¥g RACE  SRAE
HICHICST SSRCCIAT Kol -~ S <o |

What do you mean by red-tapism?

efrer (e e & @ e

( Turn Over )




(6) (7))

3. Write short notes on any four of the Or / 941
following : 5x4=20
o1 R X e Evaluate the importance of merit system
Sl " : as a principle of recruitment as
(a) Union Public Service Commission compared to the patronage system and
2 ! - the spoil system. 10
s IRTS PrARTOl &S S I LAl
(b) Importance of Promotion Aafoq TS YT A& oq GFg AEA 41|
ATENod UG
(c) Distinction between Accounting and (b) " What isibudgetzWhat are the'principles
Audit | generally followed in the budgeting
Sabs eCer ' process? 3+7=10
AWEG 27 ACEON TAOS HYRATS 229 0
|
(d) Performance Budgeting ! Elli\s‘iiij_ﬁ &2
f s qCED i
TeT3eTs Or / 941

(€) Neutrality in Civil Service Discuss the powers and functions of the

AT GRS FRersel Comptroller and Auditor-General of

() Public A itt ndles 19
ic Accounts Committee
S PYS | OS] TFAEE A PR e we) o
Q 3 | PRI SCo 344 |
4. (a) What are the different types of training? ;
Discuss the objectives and importance (c) Discuss and evaluate the contribution
of training for civil servants. 3+7=10 of F. W. Riggs on development
sifFrsy Rfeq APTOHZ & f 9 SPTHRS CHE f administration. 10
REreeR @ dfrsar Sown 9 8Fg | %M 2P 879 F. W. Riggs-d SHAH

SCADAT 41 | STCETOAT {1 e P47 |
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(d)

(8)

Or / 9941

Explain the main causes of failure of
bureaucracy in India. Give suggestions
for their removal. 5+5=1

SReHS SIETeg {7 @ER T FRPHR
I T CPHE [IR AT o[

SICeHT |

Critically examine the role of various
means of legislative control over
administration. 10

PP e Rfen oee Rafi fFeEw
SRR STICR SACGIS JoAeA ST |

Or/ 91

What is Lokpal? Describe the

composition and functions of Lokpal.
3+7=1(

G 2 ERoER a1 e SR
I 41 |

* o K
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